MIAM I-DADE’ MIAMI-DADE COUNTY, FLORIDA
] METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Pozzi Window Company
62845 Boyd Acres Rd.
Bend, OR 97701

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Aluminum Clad Wood Outswing Patio Door

APPROVAL DOCUMENT: Drawing No. §-2337, titled “Pozzi Aluminum Clad Wood Outswing Patio Door”,
sheets 1 through 6 of 6, prepared by R.W. Building Consultants, Inc., dated 1/20/03 with revision on 3/18/03, -
bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None '

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 03-0224.05

Expiration Date: April 24, 2008
Approval Date: April 24, 2003
Page 1




Pozzi Window Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No. S-2337, titled “Pozzi Aluminum Clad Wood Outswing Patio Door”,
sheets 1 through 6 of 6, prepared by R.W. Building Consultants, Inc., dated
1/20/03 with revision on 3/18/03.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94

along with marked-up drawings and installation diagram of an aluminum clad wood

outswing patio door, prepared by Architectural Testing, Inc., Test Report No. 03-

31367.02 dated 11/28/01, signed and sealed by Allen N. Reeves, P.E.

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by R.W. Building
Consultants, Inc., dated 2/10/03, signed and sealed by Lyndon F. Schmidt, P.E.

D. MATERIAL CERTIFICATIONS

1. None
E. STATEMENTS
1. Statement letter of conformance, dated 2/12/03, signed and sealed by Lyndon F.
Schmidt, P.E.
2. Statement letter of no financial interest, dated 12/12/02, signed and sealed by
Janet Gerard.

3. Letter from R.W. Building Consultants, dated 03/18/03, responding to the
information requested on 03/05/03.

F. OTHER

1. Letter from the consultant stating that the product is in compliance with the
Florida Building Code (FBC).

%m M

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0224.05

Expiration Date: April 24, 2008

Approval Date: April 24, 2003



f———‘ 75.187" MAX. FRAME HEIGHT “l
4

>_
POZZI WINDOW COMPANY Z
] E &
ALUMINUM CLAD WOOD OQUTSWING PATIO DOOR /26 625" = N 'Q
- O
MAX. D.L.O. o :'-_:)" o -
; 5<z%
9 | |7 2555
5 <O
. m .
7 GENERAL NOTES ) g 3 =00
< 4 10
1. THIS PRODUCT IS DESIGNED TO MEET THE FLORIDA BUILDING CODE. x 3:; Nggg i
2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO <= 8%% a
TRANSFER LOADS TO THE STRUCTURE. . E’
3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN w2
ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL N
BE BEYOND WALL DRESSING OR STUCCO. o5 oK "
4. THIS SYSTEM REQUIRES WINDBORNE DEBRIS EXTERNAL PROTECTION AS o o9 ® =
PRESCRIBED IN SECTION 1626.1 OF THE FLORIDA BUILDING CODE. =0 n 2
(@]
5. DESIGN PRESSURE RATING SHOWN THIS PAGE: SEE ASN:THOZRWG NOTE REEc s § L%
6. THIS PRODUCT MEETS WATER REQUIREMENTS FOR THE ’ g:& g S @
\_ 'HIGH VELOCITY HURRICANE ZONES”. ) “S219 = 2
\ . ZEIY Y G
5 20|g|& €
3 351°10 &
» 8 <O E
16" MAX. & <
_ 75.1875" MAX. __, _y 63.1875" MAX. 38.0" MAX. 0.C. TYp. i <
FRAME WIDTH FRAME WIDTH FRAME WIDTH 38.0" MAX. &
__75.1875" MAX. __ . 75.1875" MAX. __, FRAME WIDTH
FRAME WIDTH FRAME WIDTH >
Z 4 ¢ Vz yZ o
73]
=
N [ 11}
=5 y x I 4 & y ]
: I Y & <§E © > Vz <! |&h
. ‘ : A
N W & B & =
-= R i N N R R n ool & i R . 7 o
ot i~ il b Ry ile L it i 3
O - o 5 & & 5]
2\, v > Y Y Y Y P v ¢ EU'EJ
p\:‘a
75.1875" x 98,125 63.1875" x 98.125" 38.0" x 98.125" 75.1875" x 82.125" 75.1875" x 82.125" 38.0" x 82.125" -2
DESIGN PRESSURE DESIGN PRESSURE DESIGN PRESSURE DESIGN PRESSURE DESIGN PRESSURE DESIGN PRESSURE
POSITIVE +60.0 POSITIVE +60.0 POSITIVE +60.0 POSITIVE +60.0 POSITIVE + 60.0 POSITIVE + 60.0 ﬂw
NEGATIVE - 62.0 NEGATIVE - 62.0 NEGATIVE - 62.0 NEGATIVE -62.0 NEGATIVE - 62.0 NEGATIVE - 62.0 consiammaDine
813.659.9197
TABLE OF CONTENTS
SHEET # DESCRIPTION . wingwith the  |DATE 1/20/03
< el a8 comPIying
1 GENERAL NOTES AND TYPICAL ELEVATIONS DESIGN PRESSURE RATING gﬁ.‘:ﬁ:g iding Code SCALE:  N.T.S.
2 VERTICAL CROSS SECTION & FRAME CONSTRUCTION Date 0424 /02 DWG. BY:  TJH
5 HORIZONTA. CROSS SECTION SIZE DAYLIGHT OPENING POSITIVE NEGATIVE %?ﬁ& D2 dt 02 P
4 DOOR PANEL CONSTRUCTION & GLAZING DETAIL MAX. 6'0 X 80 Div BRANG 5-
5 BILL OF MATERIALS & UNIT _COMPONENTS @) 30 X 80 PaNeLs | UP TO 15.66 sa. FT. | +60 PSF  —62 PSF By A S_2337
6 BILL OF MATERIALS & UNIT COMPONENTS
SHEET _1 oF _6




NG

..

SEE NOTES
1 & 2

ANCHORING NOTES:

HEAD JAMB

..
L. o
~d e,
H "
. .
..
.,
N
A
W

S L

.
.

s

Q.
J~/ h s

o
o
.
.,
..

A

- SIDE JAMB

N

DETAIL_"A”

FRAME CORNER FASTENER DETAIL
SEE FRAME CONSTRUCTION NOTES SHEET 4

1. FASTENERS ARE LOCATED 4" FROM END OF FRAME AND

MAX. 16" 0.C. TYP.

2. THE FASTENER SPACING AT THE BOTTOM IS CONSISTANT

WITH THE TOP.

3. FASTENERS ARE COUNTER SUNK A MINIMUM .15" THROUGH
THE JAMB AND PENETRATE INTO THE BUCK WITH A MINIMUM
EMBEDMENT OF 1.33".

4. SILL SHOOT BOLT STRIKE ATTATCHED THROUGH SILL WITH (3)
3/16" X 2 1/2" TAPCON TYPE ANCHOR.

PFH w.S.

/ 1\ VERTICAL CROSS SECTION

A ) " .
’ 4
Q QA Aq /@>
z \ r .25 TYP.
_ \ — .
f z
EED
oy L i
SEE NOTE N ? -
5,
] D O oz
; %)  SEE NOTES >
I 1,2 &3 26
il"ﬁ——".
/—/
£ <
& o
¥ oz 4
Wl [ 'S
=2 e
g 3 6
o i
< I
°c z ' 51
> Z
Z f
n % T
(.:l =
o %
o oo INTERIOR
(18 |———
— (9
EXTERIOR  |——— ]
/]
- 36
I | m— 25 >
j .
24 28 Z
EED
= =
E [ \ J 2
ey G i
/. . -
SEE NOTE 4 '

3/

. HEAD SHOOT BOLT STRIKE ATTATCHED WITH (2) #8 X 2 1/2"

>_
=
<<
0o
S~
@) o
e~
OB:_”\‘_
o~
=673
O<Z «
a8
Z>—|_|_|CD
=Qx ™M
Mo <
—_ <
To IS
Ngs®
L .
ONwW T
A omao
=
ox| S8
[oN ] = =
o0 05
=0 L(})-ID
QO o =
EE R
NOQAID O S
@) =l 0e &5
=y o
S 2|3 w
== -
S« T =
=l = O o<
ol Sl s
HIER NN
8 el Y <
x <
o, s

113/18/03] GENERAL REVISIONS [ZRK
REVISIONS

NOJ DATE

BUILDING

CONSULTANTS, INC
813.659.9197

Approved as complying with the
ida Buiding,Code
F!onda4 g I’ s

oatE: 1/20/03

SCALE:  N.T.S.

DWG. BY: TJH

CHK. BY: RW

DRAWING NO.:

S-2336

SHEET 2 oF 6




1.33" MIN.

EMB.
jl -15" MIN.
C—-SINK
SEE NOTES
— 1 & 2
] I

39
INTERIOR

9

Al Z
2 2
Z

4
51

Z

2 -

Z

Z

.25 TYP. =

37.0625"

Z

=

——
s;agé
21

EXTERIOR

MAX. INACTIVE PANEL WIDTH WITH ASTRAGAL

48 SEE NOTE 1 & 2

. ®
|
@8

>) &\‘[

va —_ I - Z / vam

// // // ~>—1 1 = // ,W
< —Z ya v “— ‘
31 €2 O 5
32 45 —

| — )

FRAME CONSTRUCTION;

THE WOOD FRAME IS 4.3125" x 1.4375" PONDEROSA PINE. THE
FRAME METAL IS 2.26091" x .921875" x .060" WALL EXTRUDED
ALUMINUM. THE FRAME METAL IS SNAPPED ONTO THE WOOD JAMB
WITH A LAP JOINT AT THE HEAD CORNERS AND SEALED WITH SILICONE
(1199 DOW CORNING). EACH HEAD CORNER IS FASTENED WITH (3) #
8 x 2" FLT. HD. PHL. SCREWS. AN ADDITIONAL #8 x 1" FLT. HD.
PHL. SCREW IS APPLIED INTO THE SCREW BOSS OF THE ALUMINUM
EXTRUSION AND A CORNER KEY .125" x 11/32" INTO THE SLOT

OF THE ALUMINUM EXTRUSION TO COMPLETE THE CORNER. THE SILL
IS ATTACHED THROUGH THE SIDE JAMB INTO THE SILL BASE WITH (3)
#8 x 2" FLT. HD. PHL. SCREWS. AN ADDITIONAL #8 x 1" FLT. HD.
PHL. SCREW IS APPLIED UP THROUGH THE SILL METAL INTO THE SCREW
BOSE OF THE ALUMINUM SIDE JAMB EXTRUSION TO COMPLETE THE

INSTALLATION.

75.187" MAX. 0. A. FRAME WIDTH

35.875" MAX. ACTIVE PANEL WIDTH

~— .25 TYP.

£ 1\ HORIZONTAL CROSS SECTION

\&/

ANCHORING NOTES

1. FASTENER ARE LOCATED 4" FROM END OF FRAME AND
MAX. 16" 0.C. TYP.

2. FASTENERS ARE COUNTER SUNK A MINIMUM .15" THROUGH
THE JAMB AND PENETRATE INTO THE BUCK WITH A MINIMUM
EMBEDMENT OF 1.33".

62845 BOYD ACRES RD.
BEND, OREGON 97701

POZZI WINDOW COMPANY
PH. 541.382.4411

OUTSWING PATIO DOOR

POZZI
ALUMINUM CLAD WOOD
PART _OR ASSEMBLY:

HORIZONTAL CROSS SECTION

PRODUCT:

BY

REVISIONS

113/18/03] GENERAL REVISIONS |ZRK

NOJ§ DATE

CONSULTANTS, INC
813.659.9197

Floride B
Date
NOA#
pinmd B

Di thT

i ith the
mvgd ;8 CDB’ﬁ?‘ymg Wil
042 g

Dade Product Control

DATE: 1,/20/03

SCALE:  N.T.S.

DWG. BY: TJH

CHK. BY: RW

DRAWING NO.:

S$—-2337

SHEET 3 oF 6




DETAIL "C”

1/8" TEMP. GLASS
\ ’ - ‘} Z < — Z /ﬁ

AlR

4 < 4 -
1/8" TEMP. GLASS / '

&

6 ) © &

PANEL DOWELING SET-UP
INACTIVE STILE HARDWARE DETAIL

51

29

3/4" MIN. 29 (9

GLASS
THK.

INSULATED GLASS DETAIL
ULTRAEDGE™ GLASS SPACER

PANEL CONSTRUCTION NOTE:

PANELS ARE CONSTRUCTED OF HINGE STILES (4.625" x
1.71875"), LOCK STILES (4.625" x 1.71875"), TOP RAIL (4.625" x
1.71875"), AND STANDARD BOTTOM RAIL (6.625" «x 1.71875"),
OPTIONAL BOTTOM RAIL (10.25" x 1.71875"). LOCK AND HINGE STILES
SHALL BE SOLID WESTERN PINE VENEER LAMINATED TO A
TIMBERSTRAND CORE. TOP RAIL AND BOTTOM RAIL ARE COMPOSED OF
SOLID WESTERN PINE VENEER LAMINATED TO A KILN DRIED
EDGE—-AND—END GLUED CORE. THE ROLLFORMED ALUMINUM CLAD
SURFACE IS .024" WALL THICKNESS. THE DOWELS ARE COATED WITH A
WATER ACTIVATED ADHESIVE AND WATER IS APPLIED TO THE DOWELS
PRIOR TO INSERTION INTO THE DOWEL HOLES. (SEE DETAIL "C") THE
ASTRAGAL IS APPLIED TO THE INACTIVE STILE AFTER THE INACTIVE
HARDWARE IS INSTALLED INTO THE INACTIVE STILE.

POZZI WINDOW COMPANY
62845 BOYD ACRES RD.
BEND, OREGON 97701

PH. 541.382.4411

OUTSWING PATIO DOOR
& GLAZING DETAIL

POZZI
ALUMINUM CLAD WOOD
PART OR _ASSEMBLY:

DOOR PANEL CONSTRUCTION

PRODUCT:

BY

REVISIONS

—

113/18/03 GENERAL REVISIONS |ZRK

NO| DATE

| '%Weuu.omc

CONSULTANTS, INC
|| 813.659.9197

oate: 1,/20/03
SCAlE:  N.T.S,
DWG. BY: TJH

CHK. BY: RW
DRAWING NO.:

S-2337

SHEET 4 oF 6




MATERIAL LIST

ITEM| PART # DESCRIPTION MATERIAL
1 | SPD-161 | ALUMINUM FRAME CLADDING — .060 WALL (ANODIZING INC.)| 6063-T5 ALUM.
2 | SPD-159 | WOOD SIDE JAMB - (BMC) WESTERN PINE
3 | SPD-164 | WOOD HEAD JAMB — (BMC) WESTERN PINE
4 | N/A NOT USED -

5 | AC-74 | FRAME CORNER KEY — 2 EA. (MITCHELL METALS) WESTERN PINE
& N/A | INSULATED GLASS UNIT (MFG POZZi) SEE SHEET 4
7 N/A | PRESSURE TREATED 2X BUCK P.T. WOOD
8 | SPD-324 | WOOD GLASS STOP WESTERN PINE
9 N/A | 8 x 2 1/2" PFH WS STEEL

10 | SPD-224 | WOOD TOP RAIL - (BMC) WESTERN PINE
11 N/A 1/4" FRAME SHIM WwOo0D

12 | SPD-226 | WOOD 10 1/4" BOTTOM RAIL - (BMC) WESTERN PINE
13 | SPD-302 |10 1/4" BOTTOM RAIL CLADDING — (HOMESHIELD) ALUMINUM
14 | SPD-225 | WOOD BOTTOM RAIL — (BMC) WESTERN PINE
15 | SPD-228 | WOOD LOCK STILE - (BMC) WESTERN PINE
16 | SPD-228 | WOOD HINGE STILE - (BMC) WESTERN PINE
17 | SPD-300 | TOP RAIL CLADDING — (HOMESHIELD) ALUMINUM
18 | SPD-301 | BOTIOM RAIL CLADDING — (HOMESHIELD) ALUMINUM
19 | SPD-304 | STILE CLADDING - (HOMESHIELD) ALUMINUM
20 | SPD-232 | WOOD ASTRAGAL — (BEND MILLWORKS) WESTERN PINE
21 | SPD-162 | ASTRAGAL MULLION CAP — (ANODIZING) ALUMINUM
22 | SPD-321 [INACTVE ASTRAGAL COVER — (ANODIZING) ALUMINUM
23 | SPD-320 | ACTIVE ASTRAGAL COVER — (ANODIZING) ALUMINUM
24 | SPD-306 | OUTSWING SILL METAL — (ANODIZING) ALUMINUM
25 | SPD-212 [ SILL CAP - (CONNOLY) 0AK

26 | SPD-213 [SILL BASE — (CONNOLY) 0aK

27 | HLS-9000 | INACTIVE MULTI-POINT HARDWARE — (HOPPE) STAINLESS STEEL
28 | HLS-9000 | ACTIVE MULTI-POINT HARDWARE — (HOPPE) STAINLESS STEEL
29 N/A ULTRAEDGE™ GLASS SPACER STEEL

30 N/A | INACTIVE HANDLE SET & ESCUTCHEON PLATE — (HOPPE) COATED STEEL
31 N/A | ROUNDBOLT STRIKE PLATE — (HOPPE) COATED STEEL

4.13
T T T T
\ - Z < v Yol
Z - Z o
AN Z Z ~N
g N—

\

@WOOD ASTRAGAL

,— 2.62 —'

-—l 1.06 |=-

. SILL BASE

1
Eﬁﬂ o

l—— 2.26 __I_f

———— 4 5/16—.'

—-l 17/16 I——

1

-

T

64

- 1.31—|

1.31 -—I

jtrL.HJL-

@ CORNER KEY

N
~ AN
N
Y ~

AN
N
AN AN
N
o AN

N
AN AN
X

WOCK/HINGE STILE

JAMB CLADDING (D\WOOD JAMB (HEAD/SIDE) GLASS STOP (IG)
0, : ®
&
OPTIONAL BOTTOM RAIL (10.25)
4.61 6.59
AN 21 | \ \ ]
| :i S N
| ~ \ S |
. TOP RAIL @@ BOTTOM RAIL
OPTIONAL BOTTOM RAIL (10.25)
4.57 { 6.57
| {
[ J {

@TOP RAIL/STILE CLADDING
19

l [: 1.43
<

T_—_

@BOTTOM RAIL CLADDING

Tf

5

|

@INACTIVE ASTRAGAL COVER

@ACTIVE ASTRAGAL COVER

— 1

s

= 1.31

«)}""" :

3.72 —]|

@QJTSWING SiLL METAL

J:I 1.18 l—
ad

@ASTRAGAL MULLION CAP

s

@ SILL CAP

sl

>_
Z
<<
o
S~
O O
=
uﬁﬁ_
o
=0 ¥
O<Z «
Ol a
Z>"|_|_|CO
=Qax™
Cﬂo;
— 5 .
NQ S0
No=z .
ONw T
Qooma
Qo
88| =
=3 g'g.
s
aol.
~5|:>-'¢'g).
N <iJ <=
Noﬂ.mEO
02 EJ O
A= oo|uuw
2Z|9°g
" s%“:‘l%
gl 35(8|3
o 94D 3
Ql <O
& %
a a
<[>
o
)
n
pd
o
1%}
"
@ |2
2 8
| L2
u D
] 0‘1
1T}
pf)
o
Ny
s 7
Nyfa)
N
—lo
z

CONSULTANTS, INC
813.659.9197

Approved as complying with the

oate: 1/20/03

SCALE:  N.T.S.

DWG. BY: TJH

CHK. BY: RW

DRAWING NO.:
$-2337

SHEET 5 oF 6




MATERIAL LIST CONTINUED

[TEM|PART # DESCRIPTION MATERIAL
32 N/A | DUAL STRIKE AND DEADBOLT PLATE ~ (HOPPE) COATED STEEL
33 N/A | HEAD JAMB SHOOTBOLT STRIKE PLATE — (HOPPE) STAINLESS STEEL
34 N/A | SILL SHOOTBOLT STRIKE PLATE ~ (HOPPE) STAINLESS STEEL
35 N/A 3/16" x 2 1/2" TAPCON ANCHOR STEEL
36 N/A Q-LON 650 WEATHERSTRIP - (SCHLEGEL) POLY
37 N/A ARLOC WEATHERSTRIP BULB — (INTEK) POLY
38 N/A DS602 DOOR SWEEP - (INTEK) POLY
39 N/A 3/8" x 1/8" VHB TAPE M
40 N/A | RECTANGLE GLASS SPACER STEEL
1 N/A 1/8" x 3" BRASS ROD BRASS
42 N/A 1/8" x 11/32" x 3" STRAIGHT FRAME KEY STEEL
43 N/A SILL SHOOTBOLT GROMMET - (BRANDT) POLY
44 N/A 1/2" x 4" DOWEL (CHICAGO DOWEL) wOoOoD
45 N/A ADJUSTABLE HINGE (SEE HINGE TABLE SH. 1) (HOPPE) COATED STEEL
46 N/A 13 1/8" x 5% SCREW PLATE (SIMPSON) STEEL
47 N/A STANDARD HINGE - (SEE HINGE TABLE SH. 1) (HOPPE) COATED STEEL
48 N/A ACTIVE HANDLE SET & ESCUTCHEON PLATE (HOPPE) COATED STEEL
49 N/A THUMBTURN (HOPPE) COATED STEEL
50 N/A | #1199 SEALANT (DOW CORNING) SEALANT
51 N/A 1" x 7/32" CROWN 18 GA. STAPLE - (STANLEY/BOSTICH) STEEL
52 N/A #8 x 3" PH.F.H. MTL. S/STL. SCREW (CROWN FASTENERS) STEEL
53 N/A #8 x 2" PHF.H. MIL. SCREW (HOPPE) COATED STEEL
54 N/A #8 x 2" P.H.F.H, WOOD SCREW {(CROWN FASTENERS) STEEL
55 N/A #8 x 1" PH.F.H. WOOD SCREW (CROWN FASTENERS) COLOR MATCH STL.
56 N/A | §8 x 1" P.HF.H. S/STL (CROWN FASTENERS) STEEL
57 N/A | §8 x 3/4" PH.FH. WOOD SCREW (CROWN FASTENERS) COATED STEEL
58 N/A | #8 x 2 1/4" PHF.H. WOOD SCREW (CROWN FASTENERS) | COATED STEEL
59 N/A #10 x 3" P.HF.H. WOOD SCREW (CROWN FASTENERS) STEEL
60 N/A 3/16" x 3" TAPCON ANCHOR STEEL
61 N/A #8 x 5/8" P.HF.H. WOOD SCREW (CROWN FASTENERS) COATED STEEL
62 N/A #8 x 1 1/2" PH.F.H. WOOD SCREW (CROWN FASTENERS) | COATED STEEL

4.42

— 3.63

e
©

3.63
-,

©
\_©

J S—

ADADJUSTABLE HINGE

5

,— 7.32 —‘li’

»
[01]

@ACTIVE HARDWARE

L——-— 1.89 —-I

@ DOOR SWEEP

.26

@ INACTIVE HARDWARE

_[ .96

- |

i 1.77 —~!
3.98

T

8.82
©

fe— 1.77 —
|
]
i
N
¥}

@lVEATHERSTRIP

38 WEATHERSTRIP

| \9)

@DUAL STRIKE PLATE

—~_ .45 378 ——
63 —1 j— i 1.13&—- |
.ﬂ @( ( %) 58
.3:3—j ! © _I |
32— I— S SILL_STRIKE PLATE
09—~ N 325
. N !
oL ) _Jo| ¢
.38 _‘ .88 I‘— .l_
53 HEAD STRIKE PLATE
f~— 1.50 - 1.42
i F—
10 .09

©

@ROUNDBOLT STRIKE

-l 1.00
T

@SILL GROMMET

>_
=z
<
0o
s~
O, .. O
N~
OuR _
ml—
O I
o<z
QDSN
Z>—L,_|DO
EOD:P’)
00 —
—_ <
To IR
Nsg'?
0z -
ONWwW T
Qomao
oo
oY) w
o3| kg
=5 g‘;_,
aol &
SIElHER
NUchzg
OE = %)
A==0Of4
S2lals e
£EEl< =
= =0 = D
O DXl =
S JDOm‘%
a <(O,_
2 &
o o

113/18/03] GENERAL REVISIONS [ZRK
REVISIONS

NOJ DATE

CONSULTANTS, INC
813.659.9197

Appmﬁeﬂ as complying with the
Florida Buiding Code
04

oATE: 1/20/03

SCALE:

N.T.S.

DWG. BY:

TJH

CHK. BY:

RW

DRAWING NO.:

S—-2337

SHEET 6 oF 6




